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Example # 1
A {}f’%‘\ /A is a comparison of two numbers by division. The ratio x to y can be expressed in the
following ways: xtoy Xy *
Y

An equation stating that two ratios are equal is called a {3? G \’()(’_‘J\m\Q ™
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Do % and % form a proportion? If you make % 6 times bigger, it will be _Zi
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o cross products will be equal
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Example #2
Solving proportions:
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The scale of a map for Crater Lake National Park is 2 1nches =9 miles. The d1stancé%ehﬁeén Disc

Point and Phantom Ship Overlook on the map is about 1 — mehes What is the distance d between these

two places? ?225%9 ,%m; iOJ\:S %d "”',,%;'

Example #3

Porcent of change is a type of proportion. You can calculate the percent of change using the

formula ch.a;jzgez =% Ifitis marked up, it is a percent INCred S | Ifitis marked down, it is
origina _
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A shirt costs $30 originally. It is marked down to $25. What was the percent of change‘?!i
Was it an increase or decrease? A€o =945 €
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The National Football League’s (NFL) fields are 120 yards long. The Canadian Football League’s
(CFL) fields are 25% longer. How long is a CFL field?

Let I, = the length of a CFL field. Since 25% is a percent of increase, an NFL field is shorter
than a CFL field. Therefore, L — 120 represents the change.
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Example #4 1D s
A concert ticket costs $45. If the sales tax is 6.25%, what is the total price of the ticket?
| il Pary . %7
To calculate tax: Qﬁ"ﬁ/ - 825 T % of Tax Whete A
ost Total percent
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Example #5 et
A sweater is on sale for 35% off the original price. If the original price of the sweater is $38, what is the
discounted price? OO =
dlscount\ / % discounted TS lfjlcj
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The final cost of the sweater will be $38- § IB A0 - $ QL’J 7 O
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A picture frame originally priced at $14.89 is on sale for 40% off, Atax of 8. 25% is added on, What i
the final cost? ;ﬁ’? - '%-ﬁ \p@% «g,),é._jﬁ’ X = 75 e Fﬁ"éf @
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